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(1)

B RIRE TR T,

n=10& X sinf=tandcosd THHDH. p(X) =X, q,(X) =1 & TIUTEE Z =T,

n=k® & x

525K p (%), q (X) BDTEEL T, sinkd = p, (tand) cos* 0, coskd = q, (tand)cos* O & ET 5 L ET D &

sin(k +1)@ =sin k@ cosd +coskdsin @ = p, (tand) cos*™* 6 + g, (tand) tandcos*™ @

= {p, (tand) + tandq, (tand)}cos“** @

cos(k +1)6 = cosk@d cosd —sinkdsin @ = q, (tand) cos<t g — p, (tand) tandcos<t @
={q, (tand) — tandq, (tand)}cos“** @

L7232 T Prag(¥) = Py () + X0, (X), Qe () =0 (X) = xp, (X) & TAUE. n=k +1TH KT,
PLElc kv rahiz, GEBRK)

(2)

BEERIRNE TR,

(D ED n>1DEZE pr(X) = ppa(X) +Xy1 (X), Gn (X) = 0o (X) =X Py (X)

sin 20 = 2sin @cosd = 2 tand cos® 6, cos26 =cos® @ —sin? &= (1—tan’ #)cos’ @ L ¥
P2 () =2% A, () =—X* +1 . p5(X) =2=20;(X), 05 (X) =—2x =—2p, (X)

L7eR->T, n=2D & ERfAT,

n=kDLE  p(x)=ka; (), 9 () =—kpy_1(x) ERET D &

Prs1 (X) = Py (X) + xq (x) £V
Prer (X) = P () +05 (%) + X0l (X) = K1 (X) + Gy (X) = KX Py (X) = k{1 (X) = X Py (X)} + Gy (X)
=kqgy (x) +qy (¥) = (k + Dy (x)

Oes (X) = (X) = xp (X) &9
Gpia (X) = i (X) = Py (X) = XPp (X) = =K Py (X) = Py (X) = KXTy g (X) = —K{ Pye_y () + X0y ()} = Py (%)

==k py (X) = P (X) =—(k + 1) py (x)

L7255 T, n=k+1THak, LLEICE D/ RESnz, GEIK)



